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QUESTION 1

Which of the following actions related to slicing is NOT performed during UE initial registration procedure? 

A. An AMF that supports the requested NSSAI is selected to serve the UE. 

B. AMF receives an AMF set from NSSF. 

C. AMF receives a list of SMFs which support the requested NSSAI from NRF. 

D. UE receives the allowed NSSAI from AMF. 

Correct Answer: B 

 

 

QUESTION 2

Which of the following best describes the function of a PDU session flow classifier? 

A. An SMF that dynamically inserts and removes uplink classifiers (UL CL) at the UPFs. 

B. An SMF that dynamically inserts and removes UL CL at the UE. 

C. A UPF that terminates the N6 interface towards the data network. 

D. A UPF that filters uplink traffic according to UL CL rules provided by the SMF. 

Correct Answer: A 

Reference: https://www.metaswitch.com/knowledge-center/reference/what-is-the-5g-user-plane-function-upf 

 

QUESTION 3

NF A wants to explicitly subscribe for event notifications at NF B. Which of the following actions regarding this
mechanism is FALSE? 

A. NF A acts as a service consumer and NF B acts as a service producer. 

B. NF A includes a subscription identifier in the request message sent to NF B. 

C. NF A includes a callback URI in the request message sent to NF B. 

D. NF A includes event filtering criteria in the request message sent to NF B. 

Correct Answer: C 
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QUESTION 4

A UE triggers an initial registration procedure to use services offered by a 5G network. Which of the following actions is
NOT performed as a result of this procedure? 

A. AMF interacts with AUSF to authenticate the UE. 

B. AMF interacts with PCF to create an AM (access and mobility) policy association. 

C. AMF retrieves the UE AM (access and mobility) and SM (session management) data from UDM. 

D. AMF allocates a 5G-GUTI and includes it in the Registration Accept message sent to UE. 

Correct Answer: C 

Reference: https://www.sciencedirect.com/topics/engineering/registration-area 

 

QUESTION 5

Which of the following best describes the Secondary Node Addition procedure? 

A. Used to transfer bearer contexts from the master eNB to the secondary gNB. 

B. Used to establish a UE context at the gNB for a UE that supports option 3X. 

C. Used to establish connectivity from the gNB to the EPC. 

D. Used to establish an X2 connection between the eNB and gNB. 

Correct Answer: D 
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